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1
2 LENE e
3 RS md H{fh HE = RS m E{fh
4 102|#H L — 562 10 5,620 100|EH S 625
5 103|D W) F#+ 496 3,472 1001|1774 519
6 105|& /AN 559 4 2,236 10214 L — 562
7 103|m V) 7+ 496 2,976 103|m V) F#+ 496
8 104|245 611 13 7,943 104|025 611
9 101|724 519 11 5,709 105(&% /AN 559
10 101|771 519 10 5,190
11 104|h =45 611 14 8,554
12 aE 75 41,700
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4 102 =|F(B4="",""VLOOKUP(B4,$H$4:$J$9,2,FALSE)) =IF(B4="",""VLOOKUP(B4,$H$4:$J$9,3,FALSE))
5 103 =IF(B5="","",VLOOKUP(B5,$H$4:$J$9,2,FALSE)) =IF(B5="","",VLOOKUP(B5,$H$4:$J$9,3,FALSE))
6 105 =IF(B6="","",VLOOKUP(B6,$H$4:$J$9,2,FALSE)) =IF(B6="","",VLOOKUP(B6,$H$4:$J$9,3,FALSE))
7 103 =|F(B7="","",VLOOKUP(B7,$H$4:$J$9,2,FALSE)) =|F(B7="","",VLOOKUP(B7,$H$4:$J$9,3,FALSE))
8 104 =|F(B8="","",VLOOKUP(B8,$H$4:$J$9,2,FALSE)) =IF(B8="","",VLOOKUP(B8,$H$4:$J$9,3,FALSE))
9 101 =|F(B9="","",VLOOKUP(B9,$H$4:$J$9,2,FALSE)) =IF(B9="","",VLOOKUP(B9,$H$4:$J$9,3,FALSE))
10 101 =|F(B10="","",VLOOKUP(B10,$H$4:$J$9,2,FALSE)) =|F(B10="","",VLOOKUP(B10,$H$4:$J$9,3,FALSE))
11 104 =|F(B11="","",VLOOKUP(B11,$H$4:$J$9,2,FALSE)) =|F(B11="","",VLOOKUP(B11,$H$4:$J$9,3,FALSE))
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E F H J
1
2 FE—E
3 HE = e mA | HEfl
4 110 =|F(E4="","",D4*E4) 100 E&F 625
5 =|F(E5="","",D5*ED) 101 B7 74 |519
6 |4 =|F(E6="","",D6*EB) 102 hL— 562
7 =|F(E7="","",D7*ET) 103 D) F 496
8 |13 =|F(E8="","",D8*ER) 104 NEH 611
9 |11 =|F(E9="","",D9*E9) 105 2/ 559
10 |10 =|F(E10="","",D10*E10)
11|14 =|F(E11="",""D11*E11)
12 |=SUM(E4:E11) |=SUM(F4:F11)
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